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boys but of them likes sweets. A both B neither C either D
none 2 No agreements was reached in the discussion as neither side
would give way to . A the other B any other another D
other 3 We had a party last month[J and it was a lot fun] so lets
have one this month. A another B more C the other D other 4
Its head was bigger than of an average monkey. A it B that C
this D those 5 The population of Shanghai is about three times as
large as of Nanjing. A the one B ones C that D it 6 He
invitedall __ who had ever given him help in the past. A these B
they C them D those 7 He was left aloned with to look
after him. A someone B anyone C none D no one 8 This piece of
furniture is different from . A one B your C that of mine D
that 9 He is of a musician. A anybody B any one C
somebody D something 10 Alan sold most of his belongings. He has
hardly left in the house. A everything B anything C nothing
D something 11 The medicine is on sale everywhere. You can get it at
_______chemists. A each B some C certain D any 12 It is reported that
adopted children want to know who their natural parents
are. A the most B most of C most D the most of 100Test (1 [ [J [
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